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QUESTION 1

Which option describes a group of segments? 

A. values 

B. value set 

C. flexfield structure 

D. both structure and values 

Correct Answer: C 

 

 

QUESTION 2

ABC Corp. has many service requests and tasks that have not met customer requirements. Using CRM Application
Foundation module, identify the component that helps ABC Corp. designate resources who will own and work on the
task. 

A. Task Manager 

B. Resource Manager 

C. Escalation Manager 

D. Assignment Manager 

Correct Answer: D 

 

 

QUESTION 3

Which are the two options to which a menu can be assigned? (Choose two.) 

A. menu 

B. functions 

C. data group 

D. responsibility 

E. functional group 

Correct Answer: AD 
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QUESTION 4

Identify two considerations for determining the size of a value set. (Choose two.) 

A. Your value set size must be less than the size of the underlying segment column in theflexfield table. 

B. Your value set size must be less than or equal to the size of the underlying segment column in theflexfield table. 

C. Oracle Applications enables you to assign a value set whose values do not fit into theflexfield table. 

D. Choosing the maximum size for your value set depends on whichflexfield you plan to use with your value set. 

Correct Answer: BD 

 

 

QUESTION 5

Identify three features of Daily Business Intelligence. (Choose three.) 

A. provides a cross-enterprise reporting capability 

B. requires a data warehouse setup for its implementation 

C. creates a separate subset of transactions in a new database 

D. is based on a single, transactional database for all products and customers 

E. provides planning, execution, and reporting capabilities to optimize business performance 

Correct Answer: ADE 

 

 

QUESTION 6

View the Exhibit and identify the component marked as "1". 
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A. Notification Mailer 

B. Workflow Manager 

C. Notification System 

D. Business Event System 

Correct Answer: D 

 

 

QUESTION 7

ABC Corp. has implemented Oracle Manufacturing applications. How is the data in these applications partitioned? 

A. by Application 

B. by Legal Entity 

C. by Operating Unit 

D. by Business Group 

E. by Inventory Organization 

Correct Answer: E 
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QUESTION 8

Which two statements are true about the features of Daily Business Intelligence? (Choose two.) 

A. KPIs cannot be disabled. 

B. The data that has changed since the last refresh is updated. 

C. Parameters regulate user access to content and functionality. 

D. Incremental refresh capabilities of Oracle Database are leveraged. 

Correct Answer: BD 

 

 

QUESTION 9

In the Exhibit view the organization structure. The MO: Top Reporting Level is set to Set of Books. 

Paul is an Oracle Applications user. He is connected to a responsibility that is linked to the Western Division operating
unit. 

What are his reporting options? 

A. He cannot submit a report at the Operating Unit level. 
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B. He can submit a report at the Set of Books level, Legal Entity level, and Operating Unit level. 

C. He can submit a report at the Legal Entity level only and can choose the U.S. Legal Entity or the Canada Legal Entity
as the reporting context. 

D. He can submit a report at the Set of Books level only and the reporting context automatically defaults and is restricted
to the U.S. Set of Books. 

Correct Answer: B 

 

 

QUESTION 10

Can you create an application user with start and end dates that are earlier than the current date? 

A. Yes, the login can be created, but it will not work. 

B. Yes, the login can be created, but it will work only once. 

C. No, the login cannot be created with start and end dates that are earlier than the current date. 

D. Yes, the login can be created, but only if the System Administrator responsibility is assigned to the user. 

Correct Answer: A 

 

 

QUESTION 11

Can a defined profile value be referenced anywhere in Oracle Applications? 

A. no 

B. yes 

C. yes, but only those profile values that are related to Application Object Library 

D. yes, but only those profile values that are related to Oracle Human Resources 

Correct Answer: B 

 

 

QUESTION 12

Identify two features of a value set that has a validation type of \\'None\\'.(Choose two.) 

A. It has an approved list of values associated with it. 

B. The entered value must meet the formatting requirements. 
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C. Theflexfield value security rules cannot be used for a segment that uses this value set. 

D. Users can enter any value that they want even if it does not meet formatting requirements. 

Correct Answer: BC 
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